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1 use
"H:\chen_do\AQIl 2014-2016_dofile&data\0521 data\AQl Weather_ FuelPrices_Cropharvest spatialP
M_monsoon_wind.dta"
cd H:\chen_do\AQl 2014-2016 dofile&data\0521 data

sum windspeed maxspeed

replace windspeed = windspeed * 10
replace maxspeed = maxspeed * 10
sum windspeed maxspeed

OCO~NOOTRAWN

drop cys cym
10 gen cym=cityid*1000+(year-2010)*100+month

12 gen ymd = mdy(month,day,year)
13 duplicates report cym day
14  duplicates report cityid ymd

16 duplicates drop cym day,force
17 save AQl_Weather_FuelPrices_Cropharvest spatialPM_monsoon_wind_windspeed.dta

19 use
"H:\chen_do\AQIl 2014-2016_dofile&data\0521 data\AQl Weather_ FuelPrices_Cropharvest spatialP
M_monsoon_wind_windspeed.dta"

20 cd H:\chen_do\AQl 2014-2016 dofile&data\0521 data

22 gen corn_harvest= Summer_corn_harvest + Spring_corn_harvest
23 gen rice_harvest= Early rice_harvest + Middle _rice harvest + Lata rice_harvest
24 save AQl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed_rice.dta

26 gen pro_id=real (substr(string(citycode2010),1,2))
27  tab pro_id

29 xtset cityid ymd, daily
30 gen llconcentration_PM25=1_.concentration_PM25
31 label var llconcentration_PM25 "Temporally lagged PM25"

33 gen pymd=pro_id*100000+(year-2010)*10000+month*100+day
34 xtset cym day

35 tab corn_harvest

36 tab Summer_corn_harvest

37 tab Spring_corn_harvest

38 tab Middle_rice harvest

39 tab Wheat_harveat

40 tab Early rice_harvest

41  tab Lata rice harvest

42 gen yd_rice=0

43 replace yd rice=1 if Early_rice_harvest==
44 replace yd_rice=1 if Middle_rice_harvest ==
45 replace yd rice=1 if Lata _rice_harvest ==
46 gen yd_corn=0

47 replace yd corn=1 if Summer_corn_harvest ==
48 replace yd _corn=1 if Spring_corn_harvest ==
49 gen yd_wheat=0

50 replace yd wheat=1 if Wheat_harveat ==

51 gen yd_any=0

52 replace yd_any=1 if Early rice_harvest==

53 replace yd any=1 if Middle_rice harvest ==
54 replace yd any=1 if Lata_rice_harvest ==

55 replace yd _any=1 if Summer_corn_harvest ==
56 replace yd_any=1 if Spring_corn_harvest ==
57 replace yd any=1 if Wheat harveat ==

58 save AQl_Weather_ FuelPrices_Cropharvest spatialPM_monsoon_wind windspeed rice_yd.dta

60  //) ZRI AT AT B P PRy A A ]

61 replace price_gasoline=7420 if price_gasoline==742

62 replace price_gasoline=7065 if price_gasoline==6065

63 save AQIl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed_rice_yd_oil.dta

65 //F¥JERL-7, 7L N SFE H

66 use
"H:\chen_do\AQIl_ 2014-2016_dofile&data\0521 data\AQl Weather_ FuelPrices_Cropharvest spatialP
M_monsoon_wind_windspeed_rice_yd oil.dta"

67 cd H:\chen_do\AQIl 2014-2016_dofile&data\0521 data

68 replace weekend=1 if weekday==
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69
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114
115
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119

120
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replace weekend=1 i1if weekday==1
save
AQIl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed_rice _yd oil_weekend.dta

//baseline

use
"D:\chen_do\AQIl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed_rice_yd oil
_weekend.dta"

cd D:\chen_do

log using baseline.log

xtset cym day

xtivreg2 concentration_PM25 llconcentration PM25 precipitation sunshine maxtemp mintemp

windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend if

wintermonsoon==1, fe cluster(cityid pymd)

estimates store modell

xtivreg2 concentration_PM25 llconcentration PM25 sl precipitation sunshine maxtemp mintemp
windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend if

wintermonsoon==1, fe cluster(cityid pymd)

estimates store model?2

xtivreg2 concentration_PM25 llconcentration PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid pymd)

estimates store model3

outreg2 [modell model2 model3] using "results\baseline_Table3 Wintermonsoon', see replace

word dec(3)

estpost summarize concentration_PM10 concentration_PM25 precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if e(sample)==1, listwise

esttab, cells('mean sd min max') nomtitle nonumber

xtreg precipitation i.year if wintermonsoon==1, fe

predict precipitation_r, e

xtreg sunshine i.year if wintermonsoon==1, fe

predict sunshine_r, e

xtreg maxtemp i.year if wintermonsoon==1, fe

predict maxtemp_r, e

xtreg mintemp i.year if wintermonsoon==1, fe

predict mintemp_r, e

xtreg windspeed i.year if wintermonsoon==1, fe

predict windspeed r, e

xtreg pressure i.year if wintermonsoon==1, fe

predict pressure_r, e

xtreg avhumid i.year if wintermonsoon==1, fe

predict avhumid r, e

pwcorr precipitation_r sunshine_r maxtemp_r mintemp_r windspeed_r pressure_r avhumid_r, sig
drop precipitation_r sunshine_r maxtemp_r mintemp_r windspeed_r pressure_r avhumid_r

xtivreg2 concentration_PM25 llconcentration_PM25 precipitation sunshine maxtemp mintemp

windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend if

summermonsoon==1, fe cluster(cityid pymd)

estimates store model4

xtivreg2 concentration_PM25 lIlconcentration_PM25 sl precipitation sunshine maxtemp mintemp
windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend if

summermonsoon==1, fe cluster(cityid pymd)

estimates store model5

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd_corn yd wheat holiday weekend
iT summermonsoon==1, fe cluster(cityid pymd)

estimates store model6

outreg2 [model4 model5 model6] using "results\baseline_Table3_ Summermonsoon', see replace

word dec(3)

estpost summarize concentration_ PM10 concentration PM25 precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if e(sample)==1, listwise

esttab, cells('mean sd min max') nomtitle nonumber

xtreg precipitation i.year if summermonsoon==1, fe
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predict precipitation_ r, e

xtreg sunshine i.year if summermonsoon==1, fe

predict sunshine r, e

xtreg maxtemp i.year 1T summermonsoon==1, fe

predict maxtemp_r, e

xtreg mintemp i.year if summermonsoon==1, fe

predict mintemp_r, e

xtreg windspeed i.year if summermonsoon==1, fe

predict windspeed r, e

xtreg pressure i.year if summermonsoon==1, fe

predict pressure r, e

xtreg avhumid i.year 1If summermonsoon==1, fe

predict avhumid r, e

pwcorr precipitation_r sunshine_r maxtemp_r mintemp_r windspeed r pressure_r avhumid_r, sig
drop precipitation_r sunshine_r maxtemp_ r mintemp_r windspeed r pressure_r avhumid_r

log close

// 3T HE £ component_wintermosoonflicomponent_summermosoon.dta
use "'D:\chen_do\data\component_wintermosoon.dta"

drop M_total- cityid

save ''D:\chen_do\data\component wintermosoon.dta", replace

use "'D:\chen_do\data\component_summermosoon.dta"
drop M_total- cityid
save '"'D:\chen_do\data\component _summermosoon.dta', replace

//component winter&summer

*the following code generate city-specific contribution in wintermonsoon

*in the component.dta gen (M_slag+M _stlag)/M_total is the percentage contributions of PM
from upwind cities

*specify the control vars

loc control3= "precipitation sunshine maxtemp mintemp windspeed pressure avhumid
price_gasoline yd rice yd_corn yd wheat holiday weekend"

*load data

use

"D:\chen_do\AQIl_ Weather_ FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed rice_yd oil
_weekend.dta",clear

cd H:\chen_do

keep if wintermonsoon==1

drop if cityid==144

*baseline regression for wintermonson, i1 just keep the observations used in the
regression to save time
xtreg concentration_PM25 llconcentration_PM25 s1 sl _lag control3®, fe

*xtreg concentration_PM10 llconcentration_PM10 “control3" if summermonsoon==1, fe /*use
this line for summermonsoon, we will get another dataset*/

keep if e(sample)==

preserve

levelsof cityid, local(levels) /*list the name of all cities*/
foreach 1 of local levels {

restore, preserve

keep If cityid=="1"

dis "the city is "' I”

xtreg concentration_PM25 llconcentration_PM25 s1 sl_lag control3", fe /*we don"t need
to add cluster, because we std error doesn®t affect predicted value*/

predict TotalEffect, xb

gen TlagEffect=_b[llconcentration_PM25]*11concentration_ PM25/TotalEffect if _Db[
I1lconcentration PM25]>=0 /*predict y _hat, i.e. total effect*/

replace Tlageffect=0 1T _b[llconcentration PM25]<0 /*replace y hat as zero if the
coefficient is insignificant*/

gen SlagEffect=_b[sl]*s1/TotalEffect if _Db[s1]>=0 /*predict the part explained by
spatial lag*/
replace SlageEffect=0 if _b[s1]<0
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gen STlagEffect=_b[sl _lag]*sl _lag/TotalEffect if b[sl _lag]>=0 /*predict the part
explained by spatial and temporal lag*/

replace STlagEffect=0 if _b[sl_lag]<0

gen N=e(N)

collapse (mean) M_total=TotalEffect M_tlag=TlagEffect M_slag=SlagEffect M_stlag=
STlageffect N /*average predicted value for each city*/

keep if n==1

gen cityid="1"

keep cityid M_* N

append using data\component_wintermosoon

sort cityid

save data\component_wintermosoon,replace

}

restore

AEAAE A A AA A A AAAAAAAAAALAAAAAAAXAAAAXAAAAXAAAALAAAAAAAKAAAAXAAAALAAAA LA AAAXX

*the following code generate city-specific contribution in summermonsoon

*in the component.dta gen (M_slag+M_stlag)/M_total is the percentage contributions of PM
from upwind cities
AEAAEAAAXAAXAAAXAAXAAXAAXAAAXAAXAAXAAXAAXAAAXAAXAIAAIAAAAXAAXAAXAAAXAAXAAAAAAAAAXAhhAhhAhAhihii

*specify the control vars

loc control3= "precipitation sunshine maxtemp mintemp windspeed pressure avhumid
price_gasoline yd rice yd corn yd wheat holiday weekend"

*load data

use
"D:\chen_do\AQIl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed_rice_yd oil
_weekend.dta",clear

cd D:\chen_do

keep if summermonsoon==1

drop if cityid==144

*baseline regression for wintermonson, i just keep the observations used in the
regression to save time
xtreg concentration_PM25 llconcentration PM25 s1 sl_lag “control3®, fe

*xtreg concentration_PM10 llconcentration_PM10 “control3® if summermonsoon==1, fe /*use
this line for summermonsoon, we will get another dataset*/

keep if e(sample)==

preserve

levelsof cityid, local(levels) /*list the name of all cities*/
foreach 1 of local levels {

restore, preserve

keep if cityid=="1"

dis "the city is "'I”

xtreg concentration_PM25 Ilconcentration PM25 s1 sl_lag “control3®, fe /*we don"t need
to add cluster, because we std error doesn®t affect predicted value*/

predict TotalEffect, xb

gen TlagEffect=_b[llconcentration_PM25]*11concentration_PM25/TotalEffect if _Db[
Ilconcentration PM25]>=0 /*predict y_hat, i.e. total effect*/

replace Tlageffect=0 if _b[llconcentration PM25]<0 /*replace y hat as zero if the
coefficient is insignificant*/

gen SlagEffect=_b[sl]*s1/TotalEffect if b[sl1l]>=0 /*predict the part explained by
spatial lag*/
replace SlagEffect=0 if _b[s1]<0

gen STlageEffect= b[sl _lag]*sl _lag/TotalEffect if b[sl _lag]>=0 /*predict the part
explained by spatial and temporal lag*/

replace STlageEffect=0 if _b[sl_lag]<0

gen N=e(N)

collapse (mean) M_total=TotalEffect M_tlag=TlagEffect M_slag=SlagEffect M_stlag=
STlageEffect N /*average predicted value for each city*/

keep if n==1

gen cityid="1"

keep cityid M_* N
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246 append using data\component_summermosoon
247 sort cityid
248 save data\component_summermosoon,replace

249 3}

250 restore
251

252

253 use "'D:\chen_do\data\component_summermosoon.dta',clear

254  cd D:\chen_do\data

255 replace M_slag=0 if M_slag<0

256 replace M_stlag=0 if M_stlag<0

257 gen share=(M_slag+M_stlag)*100

258 sum share

259 drop if cityid==.

260 merge 1:1 cityid using cityhan_cityid.dta

261 drop _merge

262 save component_summermosoon_cityhan.dta

263

264 use '"'D:\chen_do\data\component_wintermosoon.dta",clear

265 cd D:\chen_do\data

266 replace M_slag=0 if M _slag<0

267 replace M_stlag=0 if M_stlag<0

268 gen share=(M_slag+M_stlag)*100

269 sum share

270 drop if cityid==.

271 merge 1:1 cityid using cityhan _cityid.dta

272 drop _merge

273 save component_wintermosoon_cityhan.dta

274

275 //’EKcity plain

276 use ""H:\chen_do\AQl 2014-2016 dofile&data\0521 data\1l4-16 city province_nhame.dta"
277 cd H:\chen_do\AQl 2014-2016 dofile&data\0521 data

278 gen plain=0

279 replace plain=1 if provincehan==" 2 JpyL"

280 replace plain=1 if provincehan==""7#k"

281 replace plain=1 if provincehan=="3}7 7"

282  replace plain=1 if provincehan=="4t 51"

283  replace plain=1 if provincehan==""Kj#"

284  replace plain=1 if provincehan==""7y1]]t"

285 replace plain=1 if provincehan=="1l| 4"

286 replace plain=1 if provincehan==""71F4"

287 replace plain=1 if provincehan==""2%§"

288 replace plain=1 if provincehan=="YL75"//{L7 )& T 1T i
289 replace plain=1 if provincehan==""y}]t"

290 replace plain=1 if provincehan==""JF4"

291 replace plain=1 if provincehan==""7Lpg"

292  replace plain=1 if provincehan==""2Z1"

293 replace plain=1 if provincehan==""#yL"

294  replace plain=1 if provincehan==""_Fj"

295 replace plain=1 if cityhan=="74%"
296 replace plain=1 if cityhan==""157E"
297 replace plain=1 if cityhan==""1%"
298 replace plain=1 if cityhan==""Ja}H"
299 replace plain=1 if cityhan=="—]&"
300 replace plain=1 if cityhan=="78r"
301 replace plain=1 if cityhan==""4)I|"
302 replace plain=1 if cityhan=="#7%"
303 replace plain=1 if cityhan=="5:%3"
304 replace plain=1 if cityhan=="#&"
305 replace plain=1 if cityhan==""3&[x"
306 replace plain=1 if cityhan==""#5d"
307 replace plain=1 if cityhan==""1&}{"
308 replace plain=1 if cityhan==""F&"
309 save city_plain.dta

310

311 //iFEREAIOE S PM2 .5
312

313 use

"H:\chen_do\AQIl_2014-2016_dofile&data\0521 data\corn\AQl_Weather_ FuelPrices_Cropharvest_spa
tialPM_monsoon_wind_windspeed _rice_yd oil.dta"

314  cd H:\chen_do\AQl _2014-2016_dofile&data\0521 data\corn

315 gen winter_concentration_PM25= concentration_PM25 if wintermonsoon ==

316 gen summer_concentration PM25= concentration_PM25 if summermonsoon ==

317 collapse (mean) m_winter_concentration_PM25=winter_concentration_PM25
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m_summer_concentration_ PM25=summer_concentration_PM25, by(cityhan)
save winter&sunmmer_concentration_ PM25.dta

//Fig C3 2&38&4

use

"H:\chen_do\AQIl _ 2014-2016_dofile&data\0521 data\AQl Weather_ FuelPrices_Cropharvest spatialP

M_monsoon_wind_windspeed_rice_yd oil_weekend.dta",clear

cd H:\chen_do\AQl 2014-2016 dofile&data\0521 data

log using sensitivity.log

*FE regression

xtset cym day

xtivreg2 concentration_PM25 Ilconcentration_PM25 s2 s2_ lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid pymd)

estimates store Model spatial2_Winter

lincom s2+s2 lag

xtivreg2 concentration_PM25 llconcentration PM25 s3 s3 lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid pymd)

estimates store Model _spatial3_Winter

lincom s3+s3 lag

xtivreg2 concentration_PM25 llconcentration PM25 s4 s4 lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid pymd)

estimates store Model spatial4_Winter

lincom s4+s4 lag

xtivreg2 concentration_PM25 Ilconcentration_PM25 s2 s2 lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd_corn yd wheat holiday weekend
iT summermonsoon==1, fe cluster(cityid pymd)

estimates store Model spatial2_Summer

lincom s2+s2 lag

xtivreg2 concentration_PM25 Ilconcentration_PM25 s3 s3 lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1, fe cluster(cityid pymd)

estimates store Model spatial3_Summer

lincom s3+s3 lag

xtivreg2 concentration_PM25 llconcentration PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1, fe cluster(cityid pymd)

estimates store Model_spatial4_Summer

drop _est Model spatial4 _Summer

xtivreg2 concentration_PM25 llconcentration PM25 s4 s4 lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1, fe cluster(cityid pymd)

estimates store Model spatial4_Summer

lincom s4+s4 lag

outreg?2 [Model _spatial2_Winter Model spatial3 Winter Model spatial4 _Winter

Model _spatial2_Summer Model spatial3_Summer Model spatial4 Summer] using

"results\sensitivity_ Spatial™, see replace word dec(3)

//Fig C3 5

**Scenario (4): Cluster by city AND by region-year-month-day

gen rymd=region*100000+(year-2010)*10000+month*100+day

xtivreg2 concentration_PM25 llconcentration PM25 sl sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid rymd)

estimates store RegionFE _Winter

lincom si1+sl_lag

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd_corn yd wheat holiday weekend
iT summermonsoon==1, fe cluster(cityid rymd)

estimates store RegionFE_Summer

lincom si+sl_lag

//Fig C3 8

**Scenario (5): further dropping samples

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd_corn yd wheat holiday weekend
if northwind==1 & wintermonsoon==1, fe cluster(cityid pymd)

estimates store CleanSample_Winter

lincom si1+sl_lag

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl_lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if souththwind==1 & summermonsoon==1, fe cluster(cityid pymd)
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estimates store CleanSample_Summer
lincom sl+sl_lag

//Fig C3 7

**Scenario (6): add spatial PM distance only

xtivreg2 concentration_PM25 lIlconcentration PM25 sl1 sl _lag PM _distance precipitation
sunshine maxtemp mintemp windspeed pressure avhumid price_gasoline yd_rice yd_corn
yd_wheat holiday weekend if wintermonsoon==1, fe cluster(cityid pymd)

estimates store PMdistanceonly Winter

lincom si1+sl_lag

xtivreg2 concentration_PM25 Ilconcentration PM25 sl1 sl _lag PM_distance precipitation
sunshine maxtemp mintemp windspeed pressure avhumid price_gasoline yd _rice yd_corn
yd_wheat holiday weekend if summermonsoon==1, fe cluster(cityid pymd)

estimates store PMdistanceonly_ Summer

lincom si+sl_lag

outreg?2 [RegionFE_Winter CleanSample Winter PMdistanceonly Winter RegionFE_Summer
CleanSample_Summer PMdistanceonly Summer] using "'results\sensitivity Scenarios4-6", see
replace word dec(3)

//Fig C3 6

**Scenario (7): city-year-season FE + month FE

gen cys=cityid*100+(year-2010)*10+season

gen smd=season*10000+month*100+day

gen md=month*100+day

xtset cys md

Xi: xtivreg2 concentration_ PM25 llconcentration PM25 s1 sl _lag precipitation sunshine
maxtemp mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday
weekend i.month if summermonsoon==1, fe cluster(cityid pymd)

estimates store MonthFE_Summer

lincom sl+sl_lag

Xxi: xtivreg2 concentration_PM25 llconcentration PM25 s1 sl _lag precipitation sunshine
maxtemp mintemp windspeed pressure avhumid price_gasoline yd_rice yd_corn yd wheat holiday
weekend i.month if wintermonsoon==1, fe cluster(cityid pymd)

estimates store MonthFE_Winter

lincom si1+sl_lag

outreg?2 [MonthFE_Winter MonthFE_Summer] using "results\sensitivity Scenario7’, see replace
word dec(3)

//Fig C3 9&10

sort cityhan

merge cityhan using "city plain_cityhan.dta"

xtivreg2 concentration_PM25 llconcentration PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1 & plain==1, fe cluster(cityid pymd)

tab _merge

drop if _merge==

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd_corn yd wheat holiday weekend
if wintermonsoon==1 & plain==1, fe cluster(cityid pymd)

estimates store plain_winter

lincom si+sl_lag

xtivreg2 concentration_PM25 Ilconcentration_PM25 sl1 sl_lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1 & plain==1, fe cluster(cityid pymd)

estimates store plain_summer

lincom si+sl_lag

xtivreg2 concentration_PM25 llconcentration PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1 & plain==0, fe cluster(cit pymd)

estimates store non_plain_winter

lincom si1+sl_lag

xtivreg2 concentration_PM25 llconcentration PM25 sl1 sl _lag precipitation sunshine maxtemp

mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1 & plain==0, fe cluster(cit pymd)

estimates store non_plain_summer

lincom si1+sl_lag

outreg2 [plain_winter plain_summer non_plain_winter non_plain_summer] using

“"results\sensitivity plains”, see replace word dec(3)

save

AQIl_Weather_FuelPrices_Cropharvest_spatialPM_monsoon_wind_windspeed _rice_yd oil_sensitivity
-dta

//Fig C3 1
xtset cym day
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allcode 0526. do* — Printed on 2018-6-4 10:30:54

415  xtivreg2 concentration_PM25 llconcentration_PM25 sl sl _lag precipitation sunshine maxtemp
mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if wintermonsoon==1, fe cluster(cityid pymd)
416 estimates store model3
417 lincom si1+sl_lag

418 xtivreg2 concentration_PM25 llconcentration_PM25 sl sl _lag precipitation sunshine maxtemp
mintemp windspeed pressure avhumid price_gasoline yd rice yd corn yd wheat holiday weekend
if summermonsoon==1, fe cluster(cityid pymd)
419 estimates store model6
420 lincom si1+sl_lag
421 log close
422
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